
 

 

 

 

 

Multiplication equation Answer Multiplication equation Answer 

     54  ÷  6 =       56  ÷  8 =    

         x        =  49     9  x      = 81  
42  ÷      = 6     7  x       = 42  

72  ÷       =          x   9   = 54  

63 = 9  x        56  ÷  7 =    
    8  x       = 56     27  ÷      =  3  

     63 ÷        =       49  ÷       =   

       8  x      = 72     8 x       = 32  
       x       = 66     64  ÷        =   

    81 ÷       = 9        x  7    = 56  

Belmont Times Tables Challenge 

Level 14: To find missing numbers in multiplication and 

division equations. 

 

 


